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1) In this model, identify the percent of the area that is shaded in the grid (circle the appropriate answer below.) 
 
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



A. 30%
B. 22%
C. 15%
D. 32%


2) The ratio of parking spaces to dwelling units is supposed to be 3:2.  Please, fill in the table below. 
	Housing units
	Parking spaces

	60
	

	30
	

	120
	




3) Floor area ratio (FAR) is a ratio used in urban design to express the relationship of the size of the building to the size of the lot on which a building is to be built. FAR is a building's total floor area (the square footage of every floor) divided by the area of the parcel of land on which it is built. FAR, thus, helps to determine the bulk of a building on a lot.

For example, an FAR of 1.0 or 1/1 or 1:1 that covers the entire lot might look as follows:
[image: https://encrypted-tbn3.gstatic.com/images?q=tbn:ANd9GcQgKbHdg7_VxhWJ5GlpgR4qyivUYjTYT5pgLF0goh2Cb9HoDyUTlQ]


A. Draw an illustration with an FAR 2. 

B. Draw an illustration of FAR 1. With 50% lot coverage next to the building above.
4) Using the information below and looking at the pictures of the two urban areas, depicted at the neighborhood scale, write a description comparing the two areas, using the concepts of FAR and population density.  In your opinion do the two areas depict a) similar or different FAR; b) similar or different population densities?  Explain your answers.
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Rubric

Questions 1 to 3 one point each for correct answer.

Question 4 – 5 possible points 

One point -- Answer includes some kind of statement indicating that the pictures depict similar FAR (in fact both are FAR 2).

One point – Answer includes a statement that the two neighborhoods depict two different densities.

Explanations: 
One point – Answer includes a statement that they differ in density and that the Mumbai neighborhood is more dense referencing lot coverage as a possible explanation. 

One Point – Explanation includes a reference to lot coverage, pointing out that the Mumbai neighborhood has much higher lot coverage than the Paris one.

One Point – Explanation links density to dwelling unit per acre or population density. 
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